

#### See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



#### Form **990-PF**

#### **Return of Private Foundation**

or Section 4947(a)(1) Trust Treated as Private Foundation

▶ Do not enter Social Security numbers on this form as it may be made public.

OMB No 1545-0052

Department of the Treasury Internal Revenue Service Information about Form 990-PF and its separate instructions is at www.irs.gov/form990p For calendar year 2013 or tax year beginning DEC 1, 2013 2014 , and ending NOV 30, Name of foundation A Employer identification number GERSHMAN FOUNDATION 43-1431049 Number and street (or P.O. box number if mail is not delivered to street address) Room/suite B Telephone number 150 CARONDELET PLAZA 2201 314-889-0600 City or town, state or province, country, and ZIP or foreign postal code C if exemption application is pending, check here SAINT LOUIS, MO 63105 G Check all that apply: Initial return Initial return of a former public charity D 1. Foreign organizations, check here Final return Amended return 2. Foreign organizations meeting the 85% test check here and attach computation Address change Name change X Section 501(c)(3) exempt private foundation H Check type of organization; E If private foundation status was terminated Section 4947(a)(1) nonexempt charitable trust Uther taxable private foundation under section 507(b)(1)(A), check here I Fair market value of all assets at end of year | J | Accounting method: X Cash Accrual F If the foundation is in a 60-month termination Other (specify) (from Part II, col. (c), line 16) under section 507(b)(1)(B), check here 7,355,763. (Part I, column (d) must be on cash basis) ▶\$ Part | Analysis of Revenue and Expenses (d) Disbursements or charitable purposes (cash basis only) (a) Revenue and (b) Net investment (c) Adjusted net (The total of amounts in columns (b), (c), and (d) may not necessarily equal the amounts in column (a)) expenses per books ıncome N/A Contributions, gifts, grants, etc., received Check X if the foundation is not required to attach Sch B Interest on savings and temporary cash investments 24,163. 24,163. STATEMENT 108,351 108,351 STATEMENT 4 Dividends and interest from securities 5a Gross rents b Net rental income or (loss) 258,124 6a Net gain or (loss) from sale of assets not on line 10 b Gross sales price for all assets on line 6a 1,844,620. 258,124 7 Capital gain net income (from Part IV, line 2) Net short-term capital gain 9 Income modifications
10a Gross sales less returns
and allowances š st of goods sold c Gross profit or (loss) N 2 S 11 Other income Total. Add lines 1 through-1 390,638. 390,638. 12 0. 14 Other employee salaries and wages 15 Pension plans, employee benefits Expenses 16a Legal fees 3,700. STMT 3 1,850. 1,850. **b** Accounting fees c Other professional fees Operating and Administrative 17 Interest STMT 4 5,432. 3,316. 18 Taxes 19 Depreciation and depletion 20 Occupancy 21 Travel, conferences, and meetings 22 Printing and publications STMT 17,036. 17,036. O. 23 Other expenses 24 Total operating and administrative 26,168. 22,202 1,850. expenses. Add lines 13 through 23 272,145 272,145. 25 Contributions, gifts, grants paid 26 Total expenses and disbursements. Add lines 24 and 25 298,313 22,202 273,995 27 Subtract line 26 from line 12: 92,325 8 Excess of revenue over expenses and disbursements 368,436.

LHA For Paperwork Reduction Act Notice, see instructions.

b Net investment income (if negative, enter -0-) c Adjusted net income (if negative, enter -0-)

Form **990-PF** (2013)

N/A

Cash - non-interest-bearing

3 Accounts receivable ▶

4 Pledges receivable ▶

disqualified persons 7 Other notes and loans receivable

8 Inventories for sale or use

b Investments - corporate stock

c Investments - corporate bonds

11 Investments - land, buildings, and equipment basis Less accumulated depreciation 12 Investments - mortgage loans 13 Investments - other

14 Land, buildings, and equipment basis

instructions. Also, see page 1, item 1) 17 Accounts payable and accrued expenses

21 Mortgages and other notes payable 22 Other liabilities (describe

23 Total liabilities (add lines 17 through 22)

and complete lines 27 through 31.

30 Total net assets or fund balances

27 Capital stock, trust principal, or current funds

Total liabilities and net assets/fund balances

Foundations that follow SFAS 117, check here and complete lines 24 through 26 and lines 30 and 31.

Foundations that do not follow SFAS 117, check here

28 Paid-in or capital surplus, or land, bldg., and equipment fund 29 Retained earnings, accumulated income, endowment, or other funds

16 Total assets (to be completed by all filers - see the

Loans from officers, directors, trustees, and other disqualified persons

Less accumulated depreciation 15 Other assets (describe ▶

18 Grants payable

24 Unrestricted 25 Temporarily restricted 26 Permanently restricted

Deferred revenue

19

20

Balances

Fund

5 Grants receivable

2 Savings and temporary cash investments

Less: allowance for doubtful accounts

Less: allowance for doubtful accounts

Less: allowance for doubtful accounts

9 Prepaid expenses and deferred charges

10a Investments - U.S. and state government obligations

column should be for end-of-year amounts only

STMT

STMT 7

Beginning of year

(a) Book Value

149,081

4,435,588.

1,456,109.

6,040,778.

6,040,778

6,040,778.

6,040,778.

6,133,103

6,133,103

Part II Balance Sheets Attached schedules and amounts in the description

6 Receivables due from officers, directors, trustees, and other

Part III Analysis of Changes in Net Assets of Fund Balances		
1 Total net assets or fund balances at beginning of year - Part II, column (a), line 30		
(must agree with end-of-year figure reported on prior year's return)	1	6,040,778.
2 Enter amount from Part I, line 27a	2	92,325.
3 Other increases not included in line 2 (itemize)	3	0.
4 Add lines 1, 2, and 3	4	6,133,103.
5 Decreases not included in line 2 (itemize)	5	0.
6 Total net assets or fund balances at end of year (line 4 minus line 5) - Part II, column (b), line 30	6	6,133,103.
		5 000 DE (0040)

 $\triangleright X$ 

Part IV Capital Gains	and Losses for Tax on Ir	nvestmen	t Income						
(a) List and desc 2-story brick wa	) List and describe the kind(s) of property sold (e.g., real estate, !-story brick warehouse; or common stock, 200 shs. MLC Co.)				low at - Purc - Don	cquired hase ation	(c) Date : (mo., d	acquired ay, yr.)	(d) Date sold (mo., day, yr.)
1a PUBLICLY TRADE	D SECURITIES	_				P	VARI	OUS	11/30/14
b PUBLICLY TRADE	D SECURITIES						VARI		11/30/14
c CIL							VARI	ous	11/30/14
d CAPITAL GAINS	DIVIDENDS								
e				<u>L</u> ,					
(e) Gross sales price	(f) Depreciation allowed (or allowable)		st or other basis expense of sale					ain or (loss (f) minus	(g)
a 287,148.			283,52				_		3,625.
b 1,470,134.			1,302,97	3.					167,161.
c 42.									42.
d 87,296.									87,296.
e	<u></u>	<u> </u>							
Complete only for assets showing	ng gain in column (h) and owned by	7				(I) 201	Gains (C	ol. (h) gaın ıot less tha	minus
(i) F.M.V. as of 12/31/69	(j) Adjusted basis as of 12/31/69		cess of col. (1) col. (j), if any			COI.	Losses	(from col. (	(h))
a									3,625.
b									167,161.
С									42.
d									87,296.
e									
2 Capital gain net income or (net ca	apital loss) { If gain, also enter of the lift (loss), enter of the lift (loss), enter of the lift (loss).	r in Part I, line - in Part I, line	7 7	}	2				258,124.
3 Net short-term capital gain or (los	ss) as defined in sections 1222(5) ar	nd (6):		ς					
If gain, also enter in Part I, line 8,	column (c).	•		1				4-	
If (loss), enter -0- in Part I, line 8				Д	3			N/A	
<u></u>	Inder Section 4940(e) for					nent inc	ome		
(For optional use by domestic private	e foundations subject to the section (	4940(a) tax on	net investment in	come	.)				
If section 4940(d)(2) applies, leave to	his part hlank								
	•								
Was the foundation liable for the sec			•	ıod?					Yes X No
If "Yes," the foundation does not qua				-4					
1 Enter the appropriate amount in	each column for each year; see the i	nstructions be	fore making any er				<u> </u>		(d)
Base period years	ng in) Adjusted qualifying dis	tributions	Net value of no	(C) nchar		uca accate		Distrib	oùtión ratio
Calendar year (or tax year beginni			Net value of flo					(cor (p) air	rided by col. (c))
2012		0,258.		_		0,361	+		.034886
2011		4,600.				4,803			.072680
2010		3,050.				2,939			
2009		2,270.				4,893			.053439
2008		9,324.			, 86	7,732	+		.040786
							_		210747
2 Total of line 1, column (d)							2		.219747
3 Average distribution ratio for the	•	on line 2 by 5,	or by the number	of yea	ars		_		0.420.40
the foundation has been in existe	nce if less than 5 years						3		.043949
4 Enter the net value of noncharitat	ole-use assets for 2013 from Part X,	line 5					4		7,179,857.
5 Multiply line 4 by line 3							5		315,548.
6 Enter 1% of net investment incom	ne (1% of Part I, line 27b)						6		3,684.
									- <del> </del>
7 Add lines 5 and 6							7		319,232.
8 Enter qualifying distributions from	n Part VII line 4						8		273,995.
· · · ·		the and as	data that neet were	a a 10	/ <b>ta</b> u :	rata	_ •		2,0,000
See the Part VI instructions.	n line 7, check the box in Part VI, line	i iu, and comp	nete mat part usin	ya 17	/otalX∣	die.			

323541

0.

All other program-related investments. See instructions.

Total. Add lines 1 through 3

Part X Minimum Investment Return (All domestic foundations must complete this part. Foreign foundations, see instructions.) Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes: 7,223,912. a Average monthly fair market value of securities 1a 65,283. 1b b Average of monthly cash balances c Fair market value of all other assets 1c 7,289,195. 1**d** d Total (add lines 1a, b, and c) e Reduction claimed for blockage or other factors reported on lines 1a and 0. 1c (attach detailed explanation) 1e Acquisition indebtedness applicable to line 1 assets 2 .289,195. Subtract line 2 from line 1d 3 109,338. Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see instructions) 4 Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4 5 7,179,857. 358,993. Minimum investment return. Enter 5% of line 5 Part XI Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations and certain foreign organizations check here 

and do not complete this part.) Minimum investment return from Part X, line 6 358,993. 7,369 2a Tax on investment income for 2013 from Part VI, line 5 Income tax for 2013. (This does not include the tax from Part VI.) 2b 7,369 c Add lines 2a and 2b 2c Distributable amount before adjustments. Subtract line 2c from line 1 3 Recoveries of amounts treated as qualifying distributions 4 351,624 Add lines 3 and 4 5 Deduction from distributable amount (see instructions) 6 Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1 351,624. Part XII Qualifying Distributions (see instructions) Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes: 273,995. a Expenses, contributions, gifts, etc. - total from Part I, column (d), line 26 1a b Program-related investments - total from Part IX-B 1b Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes Amounts set aside for specific charitable projects that satisfy the: a Suitability test (prior IRS approval required) 3a **b** Cash distribution test (attach the required schedule) 3b 273,995. Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4 Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment 0. income. Enter 1% of Part I, line 27b 273,995. Adjusted qualifying distributions. Subtract line 5 from line 4 Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation qualifies for the section 4940(e) reduction of tax in those years.

Part XIII Undistributed Income (see instructions)

	(a)	(b)	(c)	(d)
	Corpus	Years pnor to 2012	2012	2013
1 Distributable amount for 2013 from Part XI,	Обграб	1 0410 prior to 2012		
line 7				351,624.
2 Undistributed income, if any, as of the end of 2013				331,024.
a Enter amount for 2012 only			0.	
b Total for prior years:			•	
b rounter prior years.		0.		
3 Excess distributions carryover, if any, to 2013:		<b>.</b>		
a From 2008				
bFrom 2009 11,722.				
cFrom 2010				
dFrom 2011 142,950.				
eFrom 2012				
f Total of lines 3a through e	154,672.			
4 Qualifying distributions for 2013 from	134,0724		· · · · · · · · · · · · · · · · · · ·	
				I
			- · · · · · · · · · · · · · · · · · · ·	
a Applied to 2012, but not more than line 2a				<u> </u>
b Applied to undistributed income of prior		0.	:	1
years (Election required - see instructions)				
c Treated as distributions out of corpus	0.			
(Election required - see instructions)		<del></del>		273,995.
d Applied to 2013 distributable amount	0.	<del></del>		413,333.
e Remaining amount distributed out of corpus	77,629.			77,629.
5 Excess distributions carryover applied to 2013 (If an amount appears in column (d), the same amount must be shown in column (a))	11,029.			11,029.
6 Enter the net total of each column as indicated below:				
8 Corpus Add lines 3f, 4c, and 4e Subtract line 5	77,043.	•		
b Prior years' undistributed income. Subtract	77,043.			
line 4b from line 2b		0.		
c Enter the amount of prior years'		0.		
undistributed income for which a notice of				
deficiency has been issued, or on which				
the section 4942(a) tax has been previously assessed		0.		
d Subtract line 6c from line 6b. Taxable		•		
amount - see instructions		0.		
e Undistributed income for 2012. Subtract line	-	<del></del>		
4a from line 2a. Taxable amount - see instr.			0.	
f Undistributed income for 2013. Subtract	<del></del>	<del></del>		
lines 4d and 5 from line 1. This amount must				
be distributed in 2014				0.
7 Amounts treated as distributions out of				
corpus to satisfy requirements imposed by				
section 170(b)(1)(F) or 4942(g)(3)	0.			
8 Excess distributions carryover from 2008				
not applied on line 5 or line 7	0.			
9 Excess distributions carryover to 2014.				
Subtract lines 7 and 8 from line 6a	77,043.			
10 Analysis of line 9:				
a Excess from 2009				
b Excess from 2010	l			
c Excess from 2011 77,043.	l			
d Excess from 2012				
e Excess from 2013				
•				Form <b>990-PF</b> (2013)

Total

**▶** 3b

0.

Part XVI-A	Analysis of Incom	e-Producing Activities
Form 990-PF (2013)	GERSHMAN	FOUNDATION
•		

Enter gross amounts unless otherwise indicated.	Unrelated b	usiness income		by section 512, 513, or 514	(e)
•	(a) Business	(b)	(C) Exclu-	(d)	Related or exempt
1 Program service revenue:	code	Amount	sion	Amount	function income
a		<u> </u>			•
b					
c					_ · · · · · · · · · · · · · · · · · · ·
d					
e					
f					
g Fees and contracts from government agencies		<del>-</del> -			
2 Membership dues and assessments					
3 Interest on savings and temporary cash					
investments			14	24,163.	
4 Dividends and interest from securities	ļ		14	108,351.	
5 Net rental income or (loss) from real estate:	ļ		<del>-   -  </del>		
a Debt-financed property	-		$\rightarrow$		
b Not debt-financed property					
6 Net rental income or (loss) from personal property					
7 Other investment income	$\mathbf{I}$				
8 Gain or (loss) from sales of assets other than inventory			18	258,124.	
9 Net income or (loss) from special events					
Gross profit or (loss) from sales of inventory					
1 Other revenue:					
8					
b					
c					
d					
e					
2 Subtotal. Add columns (b), (d), and (e)		(	).	390,638.	200 65
3 Total. Add line 12, columns (b), (d), and (e)				13	390,63
See worksheet in line 13 instructions to verify calculations.)	· .				

Line No. ▼	Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to the accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes).
$\longrightarrow$	
323621	
323621 10-10-13	Form <b>990-PF</b> (201

Form 990-PF		MAN FOUN					43-14			ge 13
Part XVI			nsfers To a	and Transaction	s an	d Relations	nips With Noncl	naritable	•	
	Exempt Organ	izations		<u>.</u>						
	organization directly or indi						on 501(c) of		Yes	No
	e (other than section 501(c			- ·	ganiza	ations?				
	rs from the reporting found	ation to a noncharit	able exempt or	ganization of:						
(1) Cas								1a(1)		X
	ner assets							1a(2)		X
	ansactions:							<del> </del> .	-	₹.
• •	es of assets to a noncharita	, ,						1b(1)		X
• •	rchases of assets from a no	•	organization					1b(2)		X
	ntal of facilities, equipment,							1b(3)	$\longrightarrow$	X
٠,	mbursement arrangements							1b(4)	$\longrightarrow$	X
	ans or loan guarantees	umbarahin ar fundra	uoma aaliadaha	20				1b(5)		X
٠.	formance of services or me of facilities, equipment, ma	•	•					1b(6)		X
-	iswer to any of the above is			. •	d abua	ve chow the foir m	arket value of the good		etc.	
	ces given by the reporting f								τω,	
	(d) the value of the goods,			o loss than fair market	value i	in any transaction	or snaring arrangemen	L 3110W 111		
(a)Line no	(b) Amount involved			exempt organization	-	(d) Description	of transfers, transactions, a	nd shanno an	angemer	nts
+	(-)	(-,	N/A			(-)			<b>3</b>	
	-	<u> </u>	,							
		1								
							·			
				***						
	•									
				· · · <u>-</u>						
				-						
			•							
	oundation directly or indirec	-			janizat	tions described		<u> </u>	77	1
	on 501(c) of the Code (other	,	c)(3)) or in sect	ion 527?				Yes	LA.	No
b it Yes,	complete the following sch (a) Name of org			(b) Type of organization	, T		c) Description of relatio	nchin		
	N/A	jainzation	<del> </del>	(b) Type of organization	-		C) Description of relatio			
	H/A				+		_		-	
			<del> </del>		-+-					
					+					
					+					
	ler penalties of perjury, I declare							May the IDS o	lienuee ti	nie 1
Sign and	belief, it is true, correct, and cor	nplete Declaration of p	oreparer (other than	n taxpayer) is based on all in	formati	on of which preparer	has any knowledge	May the IRS or return with the shown below	prepare	er e
Here	ر الدار	11.64	TRUTTE	e 11/14/19	5	Tinust	.0.0	X Yes	(500 1115)	"No
Si	gnature of officer or trustee			Date		Title	L			
	Print/Type preparer's na	ame	Proparer's si	gnature	D	ate	Check if PTI	N		
			1/2. 1	1/ 1/00			self- employed			
Paid	FRANK G. H		ICYLON	1 (Q. TIDGO	$ \mathbf{L}  ^{1}$	12-23-14		00325		
Prepare		INBROWN I	LLY		Γ		Firm's EIN ▶ 43-	07653	16	
Use Only	·			18						
	Firm's address ► ON									
	SA	INT LOUIS	s, mo 6	3105			Phone no. (314	) 290	-33	J 0

Form **990-PF** (2013)

#### Gershman Foundation Charitable Contributions 11/30/2014

	Bessemer Monthly	Central Bank	Total
	<u>Statements</u>	Checking	Total
A 10	1.000		1,000
AJC	1,000	200	200
Angel Arms		200	200
American Cancer Society American Diabetes Association	1,000	200	1,000
	1,000	200	200
American Heart Association American Red Cross		100	100
7	1,000	100	1,000
American Technion Society	1,000		1,000
Anti Defamation League	500		1,000 500
Arts and Education Council		150	
Barnes Jewish Hospital	1,000 500	150	1,150 500
Burthinght Israel	500	50	500 50
Bruse and Scott Goldstein Memorial Fund		100	100
Cancer Support Community	4 000		
Central Institute For Deaf	1,000	275	1,275
Central Reform Congregation	500	50	500
Circle of Concern	4 000	50	50
City Academy	1,000		1,000
Character Plus	500		500
Cog B'Nai Amoona		50	50
College Bound	3,000		3,000
Congregation Temple Israel	3,415		3,415
Contemporary Art Museum	500		500
Community Transition Program	10,000		10,000
Clayton Education Foundation		100	100
Craft Alliance	1,000		1,000
Crohns & Colitis Fund	1,000		1,000
Crown Center for Senior Living	1,000		1,000
Cultural Leadership	1,000		1,000
Dance St. Louis	4,000		4,000
Evans Scholars Foundation	1,000		1,000
First Presbytenan Church of St. Louis		100	100
Forest Park Forever	1,000		1,000
Friends of Kids with Cancer	1,000		1,000
Gateway Festival Orchestra	1,000		1,000
Gateway to Hope	1,000		1,000
Habitat for Humanity	500		500
Hadassah	1,000		1,000
Hand in Hand USA		100	100
Harvey Komblum Food Pantry		100	100
Holocaust Musuem and Learning Center	1,000		1,000
Hom Wor	1,000		1,000
Humane Society		100	100
Jewish Chautauqua Society		50	50
Jewish Comm Relations Council		100	100
Jewish Federation of St. Louis	149,500	750	150,250
Jewish National Fund	500		500
Joshua School for Autism		50	50
Lift for Life Academy		100	100
Lifelong Vision Academy		200	200
MADD		100	100
Magic House	500		500
Make a Wish Foundation	1,000		1,000
Memory Care Home Solutions	•	100	100
Moog Center	1,000		1,000
Minam Foundation	4,000		4,000
	-,		.,

Mirowitz Jewish Comm Day School		100	100
Missouri Baptist Medical Center	1,000		1,000
Missouri Botanical Garden	600	55	655
Missouri Cures Education	5,000		5,000
Missouri History Museum	500		500
Missouri Historical Society	500		500
Multiple Sclerosis Society		100	100
Muny Opera	1,000		1,000
NA'AMAT USA	·	100	100
Naral Pro Choice Foundation		100	100
National Council of Jewish Women	500		500
Nine Network	1,000		1,000
NS-LIJ Health System - Richard Smith Fund	250		250
Oasis	1,500		1,500
Opera Theatre of Saint Louis	1,500	100	1,600
Paraquad	1,000	100	100
Pedal the Cause		100	100
Planned Parenthood	1,000	,,,,	1,000
Pulmonary Fibrosis Foundation	1,000	100	100
Radio Arts Foundation		100	100
Ranken Jordan	500	100	500
Ready Readers	500		500
•	1,500		1,500
Repertory Theatre Ronald McDonald House	1,000		1,000
	1,000		1,000
Safe Connections	1,000	100	100
Salvation Army	1.000	100	
Scholarship Foundation of St. Louis	1,000 500	100	1,100 500
Sheldon Art Gallenes	500	100	
Sheila Radman Balk Education Fund		100	100
Siteman Cancer Center		100	100
Special Olympics		100	100
Springboard to Learning	4 000	100	100
St Louis Art Museum	1,000	450	1,000
St Louis County Library Foundation	1,000	150	1,150
St Louis Childrens Hospital	1,000		1,000
St Louis Hillel	1,000	400	1,000
St Louis Holocaust Museum		100	100
St. Louis Public Radio	500		500
St. Louis Symphony Orchestra	26,000		26,000
St. Louis Science Center	1,000		1,000
St. Louis Zoo	1,000		1,000
St Luke's Hospital		100	100
United Way	14,000		14,000
United Hebrew Cong		50	50
US Holocaust Memorial Museum		100	100
Washington University	1,000		1,000
		5,380	272,145

1

.

FORM 990-PF INTERES	T ON SAVI	NGS AND TEM	PORARY CASH	INVESTMENTS	STATEMENT 1
SOURCE		REVE	(A) ( REVENUE NET INV PER BOOKS INC		(C) ADJUSTED NET INCOME
FIRST NATIONAL BANK		2	4,163.	24,163.	
TOTAL TO PART I, LIN	IE 3	2	4,163.	24,163.	
FORM 990-PF	DIVIDEND	S AND INTER	EST FROM SEC	URITIES	STATEMENT 2
SOURCE	GROSS AMOUNT	CAPITAL GAINS DIVIDEND	(A) REVENUE S PER BOOK		
BESSMER TRUST BESSMER TRUST	108,351 87,296		0. 108,35 6.		1.
TO PART I, LINE 4 =	195,647	87,29	108,35	1. 108,35	1.
FORM 990-PF		ACCOUNTI	NG FEES		STATEMENT 3
DESCRIPTION		(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOM	
ACCOUNTING FEE	_	3,700.	1,850	•	1,850.
TO FORM 990-PF, PG 1	, LN 16B	3,700.	1,850	•	1,850.
FORM 990-PF		TAX	ES		STATEMENT 4
DESCRIPTION		(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOM	
FEDERAL TAXES FOREIGN TAXES	_	2,116. 3,316.	0 3,316		0. 0.

FORM 990-PF OTHER EXPENSES					STATEMENT	5
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVE MENT INC		(C) ADJUSTEI NET INCOM		
INVESTMENT FEES	17,036.	17,	036.			0.
TO FORM 990-PF, PG 1, LN 23	17,036.	17,	036.			0.
FORM 990-PF	CORPORAT	E STOCK			STATEMENT	
DESCRIPTION			В00	K VALUE	FAIR MARKE VALUE	T
BESSMER TRUST			4	,654,101.	5,866,4	96.
TOTAL TO FORM 990-PF, PART II	, LINE 10B		4	,654,101.	5,866,4	96.
FORM 990-PF	CORPORAT	E BONDS			STATEMENT	7
DESCRIPTION			воо	K VALUE	FAIR MARKE VALUE	T
BESSMER TRUST			1	,438,191.	1,448,4	56.
TOTAL TO FORM 990-PF, PART II	, LINE 10C		1	,438,191.	1,448,4	56.

SRDTMX 3570 G111065 0028 0046
Statement dated November 30, 2014
Page 4 of 19
INVDC7 - GERSHMAN FAM FOUNDATION

Trade date basis

# Account Holdings

Current	0 01%	
Estimated annual income	\$3	Arabi e Arabi marangan dan anja diga
Unrealzed gain/loss		
Percent of esset Market value class	\$37,255 100.0%	\$37,255,100,0%
Market value per share/unit	\$1.000	
Tax cost	\$37,255	\$37,255
Average tax cost per share/unit	\$1.00	
Shares/units	37,255.840	
Cash and Short Term	BESSEMER SWEEP PROGRAM (9D3U46) 0.010 %	गैठाह्यी easth and short term ्री ं ्र ्र

#### Fixed Income

Fixed Income - cash and short term									
BESSEMER SWEEP PROGRAM (9D7L99) 0.010 %	6,919.840	\$1.00	\$6,919	\$1.000	\$6,919	0.5%	0\$		0.01%
US government bonds									
FED NATL MTG ASSOC Not callable 0 500 % Due 09/28/2015	20,000	\$100.04	\$20,008	\$100.280	\$20,056	1.4%	\$48	\$100	0 50%
FANNIE MAE Not callable 2.375 % Due 04/11/2016	110,000	100 80	110,875	102.844	113,128	8'2	2,253	2,612	2.31
FEDERAL HOME LOAN BANK Not callable 2.000 % Due 09/09/2016	100,000	102.98	102,982	102.697	102,697	7.1	(285)	2,000	1.95
FED NATL MTG ASSOC Not callable 1.250 % Due 01/30/2017	35,000	101.08	35,377	101.373	35,480	2.5	103	437	1.23
US TREASURY NOTES Not callable 0.875 % Due 05/15/2017	302,000	100 05	302,151	100.469	303,416 21.0	21.0	1,265	2,642	0.87

Statement dated November 30, 2014 Page 5 of 19 INVDC7 - CERSHMAN FAM FOUNDATION

		Average tax cost per		Market value		Percent of asset	Unreatzed	Estimated	Current
US government bonds - continued	Shares/units	share/unit	Tax cost	per share/unit	Market value	class	gain/loss	annual income	yield
TSY INFLATION INDEX BOND	56,103.850	102.08	57,271	102 023	57,238	40	(33)	350	0.61
0.625 % Due 01/15/2024	_								
US TREASURY BONDS T 2:375 24	165,000	100.15	165,244	101 844	168,042	11 6	2,798	3,918	2.33
•									
2.375 % Due 08/15/2024									
Total US government bonds			\$793,908		\$800,057	55.2%	\$6,149	\$12,059	1.51%
Corporate bonds									
BERKSHIRE HATHAWAY INC	35,000	\$100.08	\$35,028	\$100 573	\$35,200	2.4%	\$172	\$1,120	3.18%
Not caliable 3.200 % Due 02/11/2015 Aa2 /AA	∢								
PROCTER & GAMBLE CO	35,000	99 28	34,853	100.699	35,244	2.4	391	1,225	3.48
3.500 % Due 02/15/2015 Aa3 /AA-	Α.								
MEDTRONIC INC	35,000	66'66	34,996	100.783	35,274	2.4	278	1,050	2.98
3.000 % Due 03/15/2015 A2 /AA-			:						
JPMORGAN CHASE & CO FRM 3ML + 45	40,000	86'66	39,993	100.160	40,064	2.8	17	272	0.68
0 680 % Due 04/23/2015 A3 /A									
COSTCO WHOLESALE CORP	30,000	100.02	30,007	100.337	30,101	2.1	94	195	0 65
Not callable 0.650 % Due 12/07/2015 A1 /A+									
BANK OF AMERICA CORP	25,000	29 66	24,918	103 362	25,840	18	922	906	351
3 625 % Due 03/17/2016 Baa2 /A-	+								
XCEL ENERGY INC	35,000	99.35	34,774	100,043	35,015	2.4	241	262	0.75
0.750 % Due 05/09/2016 A3 /BBB+	<del>‡</del>								

Statement dated November 30, 2014

Page 6 of 19
INVDC7 - GERSHMAN FAM FOUNDATION

Corporate bonds - continued	Shares/units	Average tax cost per share/unit	Tax cost	Market value per share/unit	Market value	Percent of asset class	Unrealized gain/loss	Estimated annual income	Current yield
TEXAS INSTRUMENT INC TXN 2.375 16 Not callable 2.375 % Due 05/16/2016 A1 /A+	35,000	102.40	35,841	102 692	35,942	2.5	101	831	2.31
AMERICAN EXPRESS CREDIT Not callable 1.300 % Due 07/29/2016 A2 /A-	30,000	86'66	29,993	100.711	30,213	2.1	220	390	1.29
COCA-COLA CO Not callable 1.800 % Due 09/01/2016 Aa3 /AA	35,000	102.16	35,755	101.936	35,677	2.5	(78)	930	1.77
CITIGROUP INC Not callable 1,300 % Due 11/15/2016 Baa2 /A-	35,000	06'66	34,965	100 058	35,020	24	55	455	1 30
GENERAL ELEC CAP CORP Not callable 2 900 % Due 01/09/2017 A1 /AA+	20,000	102.84	51,419	103.964	51,982	36	563	1,450	2.79
ANHEUSER-BUSCH INBEV FIN Not callable 1.125 % Due 01/27/2017 A2 /A	35,000	99.95	34,984	100 696	35,243	2.4	259	393	1 12
JOHN DEERE CAPITAL CORP DE 1.125 17 Not callable 1.125 % Due 06/12/2017 A2 /A	35,000	99.95	34,983	100.062	35,021	2.4	38	393	1.12
WHIRLPOOL CORP Not callable 1 650 % Due 11/01/2017 Baa2 /BBB	35,000	100.15	35,052	100 427	35,149	2.4	26	277	1.64
APPLE INC FRN 3ML + 25 Not callable 0.482 % Due 05/03/2018 Aa1 /AA+	000'06	82'66	29,933	096'66	29,988	2.1	92	144	0.48
Total corporate bonds			\$557,494		\$560,973 38.7%	38.7%	\$3,479	\$10,293	1.83%

Statement dated November 30, 2014 Page 7 of 19 - INVDC7 - GERSHMAN FAM FOUNDATION

Trade date basis

International bonds	Shares/units	Average tax cost per share/unit	Tax cost	Market value per share/unit	Market value	Percent of asset class	Unrealized gain/loss	Estimated annual income	Current yield
ONTARIO (PROVINCE OF) Not callable 1.000 % Due 07/22/2016 As2 /AA-	900'09	96.96\$	\$49,982	\$100.425	\$50,212 35%	3 5%	\$230	\$500	1.00%
KFW Not callable 1.250 % Due 02/15/2017 Aaa /AAA	30,000	69.63	29,888	100.985	30,295 2.1	2.1	407	375	124
Total international bonds			\$79,870		\$80,507	2.6%	\$637	\$875	1.09%
edincome: semoconios			\$1,438,191	を発表を表示され	\$1,448,456-1	0000	\$10,265	## Charles 23.227	1.4. 1.60%

#### Large Cap Core - U.S.

Consumer discretionary									
DOLLAR GENERAL CORP (DG)	765	\$45.82	\$35,051	\$66.740	\$51,056	4.5%	\$16,005		
L BRANDS INC (LB)	255	55.13	14,058	80.900	20,629	1.8	6,571	346	1 68
MACY'S INC (M)	450	38 15	17,169	64.910	29,209	2.6	12,040	562	1 93
NIKE INC CL B (NKE)	400	84.30	33,721	99.290	39,716	3.5	5,995	448	1.13
VIACOM INC CL B NEW (VIAB)	480	76.33	36,636	75.630	36,302	3.2	(334)	633	1.75
YUM BRANDS INC (YUM)	450	70.92	31,913	77.250	34,762	3.1	2,849	738	2.12
Total consumer discretionary			\$168,548		\$211,674 18.8%	18.8%	\$43,126	\$2,727	1.29%
Consumer staples									
CVS HEALTH CORP (CVS)	290	\$44.46	\$12,892	\$91,360	\$26,494 2.4%	2.4%	\$13,602	\$319	1 20%
LORILLARD INC COM (LO)	225	44.70	10,058	63.140	14,206	13	4,148	553	3 90
Total consumer staples			\$22,950		\$40,700 3.6%	3.6%	\$17,750	\$872	2.14%

Statement dated November 30, 2014

Page 8 of 19
INVDC7 - CERSHMAN FAM FOUNDATION

		Average tax cost per	1	Market value		Percent of asset	Unrealzed	Estimated	Current
Energy	Shares/units	snare/unic	lax cost	per snare/unit	Market value	Ciass	gairvioss	annuai income	yied
CONOCOPHILLIPS (COP)	430	\$58,44	\$25,129	\$66.070	\$28,410	2.5%	\$3,281	\$1,255	4.42%
VALERO ENERGY NEW (V.(.0)	245	50.12	12,280	48.610	11,909	1.1	(371)	269	2.26
WHITING PETROLEUM (WLL)	325	82.61	26,849	41.770	13,575	1.2	(13,274)		
Total energy			\$64,258		\$53,894	4.8%	(\$10,364)	\$1,524	2.83%
Financials									
ACE LIMITED (ACE)	240	\$56.62	\$13,588	\$114,340	\$27,441	2.4%	\$13,853	\$624	2 27%
AMERICAN INTL GROUP INC (AIG)	460	41 57	19,120	54.800	25,208	2.2	6,088	230	0.91
CITIGROUP INC (C)	470	33.04	15,531	53.970	25,365	2.3	9,834	18	0.07
KEYCORP NEW (KEY)	2,750	13.30	36,585	13.500	37,125	3.3	540	715	1.93
MORGAN STANLEY GRP INC (MS)	730	29.54	21,561	35.180	25,681	23	4,120	292	1.14
Total financials			\$106,385		\$140,820	12.5%	\$34,435	\$1,879	1.33%
Health care									
AETNA INC NEW (AET)	645	\$52 23	\$33,688	\$87.240	\$56,269	2.0%	\$22,581	\$645	1.15%
MYLAN INC (MYL)	006	43 06	38,751	58 610	52,749	4.7	13,998		
PFIZER INC (PFE)	1,660	29.54	49,039	31.150	51,709	4.6	2,670	1,726	3.34
THERMO FISHER SCIENTIFIC (TMO)	205	57.13	11,711	129.290	26,504	24	14,793	123	0.46
ZIMMER HLDGS INC (ZMH)	360	68.38	24,618	112.290	40,424	36	15,806	316	0.78
Total health care			\$157,807		\$227,655	20.2%	\$69,848	\$2,810	1.23%
Industrials									
CUMMINS INC (CMI)	06	\$129.34	\$11,641	\$145.620	\$13,105	1.2%	\$1,464	\$280	2.14%
ILLINOIS TOOL WORKS INC (17W)	190	62.76	11,925	94 930	18,036	1.6	6,111	368	2 04
KIRBY CORP (KEX)	200	116.30	23,260	96.140	19,228	1.7	(4,032)		

SRDTMX 3570 G111065 0030 0046 Statement dated November 30, 2014 Page 9 of 19  $^{\circ}$  INVDC7 - GERSHMAN FAM FOUNDATION

Trade date basis

		Average		Collect to Market		Percent	- -		1
Industrials - continued	Shares/units	tax cost per share/unit	Tax cost	per share/unit	Market value	or asset class	Unrealized gain/loss	Estimated annual income	Current
NIELSEN N V EURO 07 (NLSN)	405	32,55	13,181	41.770	16,916	1,5	3,735	405	2 39
RAYTHEON CO NEW (RTN)	450	96.47	43,411	106 700	48,015	4.3	4,604	1,089	2.27
UNION PACIFIC CORP (UNP)	400	78.34	31,336	116.770	46,708	4.1	15,372	800	171
UNITED RENTALS INC (UR)	225	94 67	21,300	113.310	25,494	2.3	4,194		
Total industrials			\$156,054		\$187,502	16.6%	\$31,448	\$2,942	1.57%
Information technology									
APPLE INC (AAPL)	999	\$68.65	\$45,651	\$118 930	\$79,088	2 0%	\$33,437	\$1,250	1.58%
AVAGO TECHNOLOGIES (AVGO)	280	34 73	9,723	93.400	26,152	2.3	16,429	358	137
NXP SEMICONDUCTORS NV (NXPI)	425	58 81	24,994	77.810	33,069	2.9	8,075		
QUALCOMM INC (QCOM)	545	63.57	34,646	72.900	39,730	3.5	5,084	915	2 30
TERADATA CORP (TDC)	790	42 93	33,914	45.140	35,660	3.2	1,746		
Total information technology			\$148,928		\$213,699	18.9%	\$64,771	\$2,523	1.18%
Utilities									
AMERICAN WATER WORKS CO (AWK)	1,000	\$40.48	\$40,477	\$53.050	\$53,050	4.7%	\$12,573	\$1,240	2.34%
්රේක් කිල සොහෙ- ගය 🏅 ூ			\$865,407	HILLIAN CALLENGER	\$1,128,994	00.00	\$263,587	\$16,517	1,46%

#### Large Cap Core - Non U.S.

Consumer discretionary									
BRIDGESTONE CORP ADR (BRDCY)	1,350	\$17.88	\$24,136	\$17.186	\$23,201	3.6%	(\$832)	\$352	1.52%
DAIHATSU MOTOR CO. LTD ADR (DHTMY)	200	39.33	19,666	27.417	13,708 2.1	2.1	(5,958)	452	3 30
PANDORA A/S ADR (PNDZY)	062	1621	12,803	22.241	17,570 2.7	2.7	4,767	157	0.89

### Bessemer Trust

Statement dated November 30, 2014 Page 10 of 19 INVDC7 - GERSHMAN FAM FOUNDATION

					Trade date basis	te basıs			
	Shares/units	Average tax cost per share/unit	Tex cost	Market value per share/unit	Market value	Percent of asset class	Unrealized gain/loss	Estimated annual income	Current yield
SKY PLC ADR (BSYBY)	475	62.80	29,830	58,382	27,731	4.3	(2,099)	1,013	3.65
Total consumer discretionary			\$86,435		\$82,210	12.8%	(\$4,225)	\$1,974	2.40%
Consumer staples									
IMPERIAL TOBACCO LT ADR (17787)	315	\$71.23	\$22,437	\$92.710	\$29,203	4 6%	\$6,766	\$1,306	4.47%
J SAINSBURY SPN ADR NEW (JSAIY)	1,350	23.05	31,114	14.621	19,738	3.1	(11,376)	1,536	7.78
SVENSKA CL AKTIBLGT ADR (SVCBY)	1,010	26 90	27,171	23.636	23,872	3.7	(3,299)	597	2 50
UNILEVER NV	800	38.31	30,645	40 726	32,580	5.1	1,935	1,133	3.48
WILMAR INTERNATIONAL ADR (WLMIY)	850	26.39	22,434	24.626	20,932	3.3	(1,502)	456	2 18
Total consumer staples			\$133,801		\$126,325	19.7%	(\$7,476)	\$5,028	3.98%
Energy									
SINOPEC/CHINA PETE&CHM ADR (SNP)	204	\$78.12	\$15,937	\$80.850	\$16,493	2.6%	\$556	\$707	4.29%
Financials									
BNP PARIBAS SPON ADR (BNPQY)	650	\$26.35	\$17,128	\$32.139	\$20,890	3.3%	\$3,762	\$464	2 22%
DBS GROUP HLDGS LTD ADR (DBSDY)	625	52.75	32,971	60.852	38,032	5.9	5,061	1,125	2.96
HSBC HLDGS PLC ADR (HSBC)	089	50.48	34,325	49 750	33,830	5.3	(495)	1,666	4.92
ORIX CORP	1,850	15.55	28,776	13.150	24,327	3.8	(4,449)	388	1.60
RSA INS GRP INC SPON ADR (RSNAY)	4,000	6 35	37,417	7.332	29,328	46	(8,089)	899	2.28
SKANDINAVISKA ENSKILDA ADR (SKVKY)	1,010	11.70	11,821	13.236	13,368	2.1	1,547	473	3.54
WHARF HOLDINGS ADR (WARFY)	1,380	12.78	17,641	14.429	19,912	3.1	2,271	557	2.80
Total financials			\$180,079		\$179,687	28.0%	(\$392)	\$5,341	2.97%
Health care									
ASTRAZENECA PLC	425	\$72.55	\$30,833	\$74.769	\$31,776	5.0%	\$943	\$1,129	3.55%

SRDTMX 3570 G111065 0031 0046 Statement dated November  $30,\,2014$  Page 11 of 19 · INVDC7 - GERSHMAN FAM FOUNDATION

	Shares/units	Average tax cost per share/unit	Tax cost	Market value per share/unit	Market value	Percent of asset class	Unrealized gain/loss	Estimated annual income	Current yield
TOCHU CORP ADR (TOCY)	1,585	\$22.18	\$35,152	\$23.019	\$36,485	5.7%	\$1,333	\$1,145	3.14%
Information technology HITACHI LTD ADR (HTHIY)	510	\$76.94	\$39,240	\$77.221	\$39,382	6.1%	\$142	\$454	1.15%
Materials SUMITOMO METAL MIN CO LTD (SMMYY)	1,200	\$14.11	\$16,935	\$15.309	\$18,370	2.9%	\$1,435	\$349	1.90%
Telecom services CHINA TELECOM ADR (CHA)	089	\$55.56	\$37,783	\$61 330	\$41,704	6.5%	\$3,921	\$750	1.80%
KDDI CORP ADR (KDDIY)	1,770	8.67	15,338	16.017	28,350	4 4	13,012	454	1.60
TIM PARTICIPACOES SA ADR (TSU)  Total telecom services	770	22.15	17,058 <b>\$70,179</b>	24 350	18,749 \$88,803	29 13.8%	1,691 <b>\$18,624</b>	568 <b>\$1,772</b>	3.03 2.00%
Utilities TOKYO GAS LTD ADR (TKGSY)	1,005	\$19.89	\$19,989	\$21.812	\$21,921	3.4%	\$1,932	\$143	0.66%
liotallarge cap coreje no mission i se			\$628,580		5641,452	100.0%	12/8/2/	\$18,042 F	100 S. 10

#### BESSENIER TRUST

Shothax 3570 G111065 0032 0046 Statement dated November 30, 2014 Page 12 of 19 INVDC7 - CERSHMAN FAM FOUNDATION

Current	0.61%	%(19.0)		0 77%	1962LO		1 21%	1812:277 W. 1.21%
Estimated annual income	\$11,516	Minim (\$117576)		\$8,359	69E:18\$		\$12,277	\$12.277
Unrealized gain/loss	\$382,540	\$382,540 kg		\$403,860	2403.860.1		\$171,413	W. 18171.413
Percent of asset Market value class	\$1,875,990 100.0%	\$1,875,990,100,0%		\$1,082,905 100.0%	.51.082,905-100:09.		\$1,017,818 100.0%	\$1017.818.100.0%
Market value per share/unit	\$13.520			\$17.230			\$8 290	
Tex cost	\$1,493,450	\$1,493,450		\$679,045	1.05 S679,045.		\$846,405	\$846,405
Average tax cost per share/unit	\$10 76	To provide the state of the sta		\$10.80			68 9\$	
Shares/units	138,756.708			62,849.971			122,776.625	
Large Cap Strategies Large cap strategies funds	OW LARGE CAP STRATEGIES FD (OWLSX) BOOK COST 1,550,894	Total large cap strategies	Small & Mid Cap	Small & mid cap funds OW SMALL & MID CAP FUND (OWSMX) BOOK COST 722,023	Total small/s/midicap. 2. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1.	Strategic Opportunities	Strategic Opportunities funds ow STRATEGIC OPPTYS FUND (OWSOX) BOOK COST 943,261	Total strategic opportunities
Larg	OW L	Total	Sma	Smal OW SI BOOK	lotal s	Stra	Strate owst Book	Totals

SHDTMX 3570 G111065 0092 0046 Statement dated November 30, 2014 Page 13 of 19 'INVDC7 - GERSHMAN FAM FOUNDATION

Real Return / Commodities	Shares/units	Average tax cost per share/unit	Tax cost	Market value per share/unit	Market value	Percent of asset class	Unrealzed gam/loss	Estimated annual income	Current yield
Real return funds									
OW REAL RETURN FUND <i>(OWRRX)</i> BOOK COST 141,225	16,018.496	\$8 82	\$141,214	\$7.450	\$119,337 100.0%	%0.001	(\$21,877)	\$320	0 27%
Total real return / commodities		The state of the s	\$141,214		\$119,337	0000	(\$21.877)	H. W.	0.27%
Totalvalue of account	All the state of t		\$6,129,547		.s7/352/207		\$1,222,6 <u>600</u>	1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1	1,23%
Total interest and dividends accrued responsible to the second including accruais		TO CONTROL TO THE PARTY OF THE			9,061				